Exam III; F4360; Spring 2005; 2:00 Class

Name __________________________________


Note:  You should write down all equations needed to answer a question and fill in as many numbers as possible.

Short-answer questions/problems

Note:  If you write more than a couple of sentences on a short-answer question, you are likely writing too much.

1.  What keystrokes would you use in Excel to:  

a.  open the print box.
b.  repeat the last action performed.
c.  paste special - values. Can only be used after a selection is copied or cut.
2.  A firm’s equity is usually recorded on the firm’s balance sheet in at least 3 places.  List 2 of the three places where equity is usually recorded (note:  the 3 places are usually right next to each other on the balance sheet).
3.  What are the annual or semiannual interest payments to bondholders called?
4.  What are the basic steps involved with issuing stock through a rights offering?
5.  What is the underwriting spread?
6.  Based on actual evidence how large are direct and indirect financial distress costs?
7.  What evidence do we have regarding capital structures across different industries?
8.  By making a number of very restrictive assumptions, Modigliani and Miller were able to show the conditions under which stockholders are indifferent to the firm’s capital structure.  If the only one of Modigliani and Miller’s assumptions that we relax is the assumption that there are no corporate income taxes, what do we conclude about the optimal capital structure for the typical firm?
9.  Assume that stockholder returns are untaxed, that bonds can be issued to investors with a 20% tax rate, and that the corporate tax rate is 35%.  Internet2 Fine is considering issuing bonds that promise to pay $100,000 per year forever to the bondholders rather than stockholders (who are currently receiving the cash flow).  How much will bondholders pay for these bonds?  How does this compare to the value of this cash flow to the firm’s stockholders?  Assume that all investors require an after-tax return of 10% per year.

10.  According to the Pecking Order Theory, what kinds of firms will end up having less debt in their capital structure?

Problems/Essays

1.  Starbucks to Congress Inc. is considering investing in a new factory that produces lobbying results (an obscure but profitable product).  Starbucks usually uses its weighted average cost of capital when it is analyzing potential new investments.  However, Starbucks is concerned that the risk of producing lobbying results differs from its existing business of selling flavored caffeine.  Why is this concern valid (if it is)?  How would you recommend that Starbucks come up with an appropriate cost of capital for the project?  Why is this approach superior and what are the problems of this approach?  (Note:  a graph might help in answering this question).

2.  Buffetted Industries Inc. has significantly less debt in its capital structure than other firms in its industry.  Discuss the conditions under which this would be optimal for the firm (feel free to draw and discuss a graph)?

PAGE  


Page 1 of 1

